
𝑓 𝑥 × 𝑏 − 𝑎 = 1 ←累積確率密度
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一様分布
平均値の導出



一般に分散は
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一様分布の分散は

𝑉 𝑥 = -
!

"
𝑓 𝑥 𝑥 − 𝐸 𝑥 &𝑑𝑥 = -

!

"
𝑓 𝑥 𝑥&𝑑𝑥 − 𝐸(𝑥)&

= ∫!
" #
"$! 𝑥

& 𝑑𝑥 − !("
&

&

= #
"$!

%"

+ !

"
− !(" !

,

= #
"$! 0

""$!"

+ − !!(&!"("!

,

        = ,""$,!"$+("$!)(!!(&!"("!)
#&("$!)

        = "$! "

#&("$!)

= "$! !

#&
標準偏差𝐷 𝑥 = 𝑉(𝑥) =

𝑏 − 𝑎
2 3



𝑉 𝑥 =
(𝑏 − 𝑎)!

12
𝑏 − 𝑎
4

𝑎 "#$
!

          𝑏

𝑦 =
𝑥 − 𝑎 + 𝑏2

!

𝑏 − 𝑎

𝑦

𝑥

𝑉 𝑥 = 2-
!

!("
& 1
𝑏 − 𝑎 (𝑥 −

𝑎 + 𝑏
2 )&𝑑𝑥

= &
"$!∫!

#$%
! (𝑥 − !("

& )
&𝑑𝑥

 = &
"$!∫!

#$%
! 𝑥& − 𝑎 + 𝑏 𝑥 + (!(")!

,
 𝑑𝑥

= &
"$!

%"

+ !

#$%
! − 𝑎 + 𝑏 %!

& !

#$%
! + (!(")!

,
𝑥 !

#$%
!

= &
"$!

(!(")"

&,
+ #&(!(")!!$8!"$9(!(")!!

&,

        = &
"$! 0

""$!"$+!"!(+!!"
&,

= &
"$! 0

"$! "

&,

        = ("$!)!

#&

分散の導出

標準偏差𝐷 𝑥 = 𝑉(𝑥) =
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